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25.The air pressure at the base of Mt. Kenya is 70cmHg while at the top of the mountain is
55cmHg. Given that the average density of air is 1.30kg/m’ and the density of mercury is
13600kg/m’. Determine the height of the mountain. (3mks)

26.Figure 6 shows a glass filled with ice placed on a bench.

Fig 6

State the change on the stability of the glass when temperature increases. (Imk)

26.State the fastest mode of heat transfer. (1mk)

27. State one way in which sensitivity of clinical thermometer can be improved.
(1mk)
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28.A mine worker stands between two vertical cliffs 400m from the nearest cliff. The cliff are x
and metres apart. Every time he strike the rock once , he hears two echoes, the first one after 2.5

seconds, while the second follows 2 seconds later.

Calculate
@) The speed of sound in air. (2mks)

(ii)  The value of x (3mks)
29.The figure shows a simple circuit diagram of an electric bell. Gong

hammer

. Soft

= Contact
Solenoid
Spring meter
p - —1
Bush button
(3mks)

Explain how it works
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1.The figure below shows an arrangement to demonstrate diffusion through solids

Flydeagon J
s sappii

The hydrogen gas is supplied for sometimes then stopped and the beaker removed. State and
explain what is likely to be observed when the hydrogen gas supply is stopped (3 mks)

2. The diagram below shows a mass of 12g hanged on a set of 6 identical springs.
When a mass of 12g was hanged on spring A alone, its extension was Scm. Find the extension

of the combination shown if each spring and each rod has negligible mass (2 mks)
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3. Sea water of density 1.04g/cm’ is being pumped into a tank through a pipe of uniform

cross-sectional area of 3.142cm”, If the speed of water in the pipe is 5m/s, determine the
mass flux in S.1 unit. (2 mks)

4. A radio signal of 30MHz is received by an aerial whose length is 1/8 " of its wavelength. If
the speed of light is 3.0x10® m/s determine the length of the aerial. (3 marks)

5. The figure below shows a wire carrying current placed over a magnetic compass. On the wire,

indicate the direction of electric current. The shaded side is the North Pole.(1 mark)

6.The micrometer screw gauge shown had an error of — 0.03mm and was used to measure the

diameter of a ball bearing.Find the radius of the ball bearing whose diameter is recoM
by the instrument. (2mks) :
&4 C 0
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7. Explain why steel is selected as a better material for reinforcement for a concrete beam.

(Imk)

8. Explain why a dead dog thrown next to school smells so much during the day than during cold
morning.(1mk)

9.The figure below shows a wooden sphere with a nail driven or hammered into it at a point x as
shown below.

Sphere

Nail (at point X)

Q

The sphete is allowed to roll after a little push on it. Sketch the sphere in position it will settle

along the plane PQ in the space on the right. Give a reason for your answer. (2mks)

10. State and explain what is observed when a highly negatively charged rod is brought nextto a
negatively charged electroscope (3mks)
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11. Curtains on the doors and windows are seen to bulge or hang outwards when there is a wind

blowing across them. Explain this phenomenon. (2mks)

12.The temperature of a cold drink from a fridge was found to be 261kelvin, What temperature
would this be in degrees centigrade. (1mk)

13. Using the domain theory, explain how strong heating causes demagnetization.(2mks)

14. What is local action and how is it minimized in a simple cell. (2mks)

15.Two plane mirrors are inclined at an angle of 120° to each other such that their reflecting
surfaces face each other. An object pins stands midway between the mirrors. Draw a ray
diagram to show all the images (3mks)
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16.The figure below shows two parallel rays incident on a concave mirror. F is the focal point of

the mirror

Sketch on the same diagram the path of the rays after striking the mirror. (2mks)

17.State the class of waves to which sound belongs (1mk)

18.In the diagram below, two electroscopes A and B carry same type of charges as shown. The

two are then connected with a copper wire as shown .Sketch and explain the observations

M@wn wire (zmks)

i — '
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23. In an experiment to estimate the diameter of an oil molecule, an oil drop of diameter 0.06cm
spread over a circuiar patch whose diameter is 20cm. Determine

(i) The volume of the oil drop (2mks)
(ii) The area of the patch covered by oil (2mks)
(iii) The diameter of the oil molecule (1mk)

(iv) State any one assumption made in (iii) above (1mk)

24.The figure shows air flowing through a pipe of non-uniform cross sectional area. Two tubes
A(left) and B(right) are dipped into the liquid as shown.

(a) Indicate the level of the liquid in tubes A and B {Imk}
(b) Explain your answer in part (a) above (2mks)




